
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

18 :12  =3 :2 

6  :18   =1  :3 

150

5
   =

30

1
 شخص/ صف  30 = 

330

15
   =

22

1
 كلم/ لتر  22=  

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 م  6.97= 1.093÷7.62

 كجم  23.04=0.453592× 50.8

 ل  3.60=1000÷3600

19.25 ÷0.30 =64.17 

 42× 2س=  3

 28س=

 15×21ت=   14

 22.5ت=

 72× 100ج=  250

 ملجرام  28.8ج=

 لتر 150= 3×50س=

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 سم في المخطط 5طول الجدار = 

 متر   12.5= 2.5×5طول الجدار في الحقيقة=

 سم 0.52=2.5÷ 1.319

0.62520 =62.5 % 

0.466621  =46.66 % 

https://hulul.online/

	الفصل الرابع: النسبة والتناسب
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